TEST OF SOFTWARE CODING

2022



ul o
T
m n
- o I | WI
~n O ] o0
< 2 — e o
o ok o (R
4w =
T R
=% <
S <k o
+ s <
K ol —~ W BEY
< <o = N H
B o o2 =T W S
gl RO < < Wl
K o[ ol W
ok < <
o) KO o o
—_ = orl
< or s o
_-.__._._ od K
T o
H & o - e
of uu © M IH 1h
Sw S PN T3
T T — <
=3 5 B
Ry
of B R KR
=T 3 5
51 © o W | =
Sia ﬁ_w ol | =
ojp O ==
o T i | o
I = <

5%

10%

— A}

25%

SH0f|A] 1
50

50%

100%
tA <.

28 A2tH[E
=X 1
Of|A] 1

101 AQA|ZHChH|




SAlo

k

gt
M| SAt

I

Ct. A SAt

SAt
Ct.

F

o
—

210] OtL|2} StLfe| SAt

X 2

—

[ |
L

kL
=ICtD by
Step 1)
Step 3)

L

ol
~

4

o
oill

Tio
N

Step 4)

Z20|A| 1

YUCIAl 1

<

Wo o] < o} < o] < 1o} < o] <|
ol B p B g Bl e B o B

< o = o = o = o = o =
THO 75 3o 7 2o 7o Bo 7 2o 7 To
T o g g s o
T To 7 To 7 Ho 7 Ho 7 Ho 7o
N



> s

=]
=

Alof]

210| OtL|2t stLte] SAtEES 2tRoln O

=
[

F3s)

ol

SAERES HES sl0f B[S0

of s g
_9__]

2t

20| HOf SAIEE 224

FET IR Y @ B 2

SARL =& 2740

M-S M=ot Xt

ojn

P SAFHS0[ O o

RIS

FotTY.)

18022 & A4

& 2222 60X32]

ojru
~

4

o
oill

Tio
N

Step 4)

hun

rl

jod

r

ZZ0|A| 1

YA 1

o] X o] <o < iof <} iof <| o] <k
m\_ﬂlﬁLﬂlﬁLﬂlﬁLﬂlﬁLﬂlﬁLﬂl

o = o = o = o = o = o

a0 o 20 300 40 2o 3 Tho 1 T 790 o

Ee bl el el ol o E ol

o 1 o5 o 75 To 75 Bo 1 Ho 1

1111122280111
o O

—A IO NN A — MmO — M



